HREGEF

T fE fi Al G | B AL | s (450 SH) HR i &
HE L
JEREL
FERRERE A LS 10~200kg/fil, +5Ef (L) il | m® 11
SRR LA FeN. 10~200kg/fH m® 11
BB L Ok +50cm m® 122
AL Okd) + 5em m? 76
W T
T A i L 200kgMSh/ A, H3EA GFF L) [ m® 62
T R A IN 200kgPI4H/ 1 m® 62
wEAHL (L) +50cm m? 45
wEARHL ki) +50cm m? 87
HIAT
AR EE ®5~15cm, LMy (FL) FEME| m? 168
FAAME RN ¢ 5~15cm m® 168
HAAHL (kL) +20cm m? 88
HAAHL (k) +20cm m? 50
W B A T
Boabakast (ki k) # e~ > ht=5mm B=1.0m m? 24
BERbHCEAS (k) #e'~ > Ft=5mm B=1.O0m m? 43
By s — Mk (k2 ) A% t=5mm m? 153
AR
FH¥Twy s Fr2r{E
TRT 7y 7 g LERE A AZ AT W=T.2t i 1 A E#R 2R
BX A7, W=3.8t 1 3 Bk
CHA T, W=T.6t 1l 1 ClRE B
DX A7, W=5.Tt L] 3 DI R B
EX A7, W=4.0t 1 1 EfiE S
F# A7, W=3.5t L] 4 Pk &M
GH A7, W=3.7t 1 1 CHE® M
H& A 7, W=6. 1t L] 2 W ER MR
%47 W=5.5t 1 2 HmE 2
JBA T W=6.61 18 1 JEER B
K% A 7, W=6.8t 1 1 KRR S
L&A 7, W=3.4t L] 2 Lgm#k &R
MZ A7, W=4.3t 1 1 W EE S
N¥ A7 W=2.3t L] 3 N E SR
0% A7, W=1.6t 1 1 ofEE S
VINGENTPESN N=34&
VNG E AR 18N/mm” m® 3
B m2 5
IS I — b m2 12




HREGEF

T fE fi Al G | B B | s e | % SH) HR i &
ET N=TH
aryy— MT# 24N/mm* m® 10
a7 ) — MR 18N/mm* m® 14
e ErfHHED m? 17
B A5 R ) m’ 42
SR IN THLSE SD345 D13 kg 218
FRIHIN T AL SD345 D16 kg 231
fiii H t=10 m 3
FN—R T
T VR ANV =P L
77 VRRAME A = Mg B3300 X H1100 243%| m 7 FeiA - S T
T L% v A b SERERET B4000 X 11000 X T200 Lie 4 FA - EiRE T
TR A b IR B4000 X L1500 X T200 Iie 2 FHIA - SR
HEER L K m2 35
G
R A
HASRAR S MmALY — = t 19.65 N=40#
SR K m 9.6
ICEAMARA G | B MR, E, ImEL T L5 34 N=3 {47
RS RAR D | A P, 6mEl T ¥ 12 N=1{4 7
LARE R
AR E AR B
AR A BB A 7
E = <Pl e
KELIGEB 1E
bapta] NI AR, m 40
T 17— b 8 2 Ly AL
R
IR B
RN S IR FHARATR (235) e 1 19.65t  142km
Lt
/e
LA R 180PS# A 31
K (5 Rk
KRR
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2 T

2-1 FAe A

ASittEA &R A E
e b K H
wo R IH A g 2L
LTI (A 3 B VAR = T TR 3 B VAl =
0 + 0.00 — 0.0 — — 0.0 — —
0 + 4.00 4.00 0.0 0.00 0.0 0.0 0.00 0.0
0+ 8.75 4.75 0.0 0.00 0.0 0.0 0.00 0.0
1+ 0.00 1.25 0.0 0.00 0.0 3.2 1.60 2.0
1+ 1.00 1. 00 0.0 0.00 0.0 0.0 1.60 1.6
1 + 5.00 4.00 0.0 0.00 0.0 0.0 0.00 0.0
1 + 8.50 3. 50 0.0 0.00 0.0 0.0 0.00 0.0
2 + 0.00 2.26 0.0 0.00 0.0 0.0 0.00 0.0
2 + 5.00 5. 00 0.0 0.00 0.0 0.0 0.00 0.0
2+ 7.29 2. 29 0.0 0.00 0.0 0.0 0.00 0.0
7)1 4 4y 4. 67 0.0 0.0 0.0 0.0 A7 A Lt
AT 5p 1 45 — 0.0 — — 2.0 — — NO. Off
2.10 0.0 0.00 0.0 2.0 2.00 4.2
2. 65 0.0 0.00 0.0 0.0 1.00 2.7
B 4y — 0.0 — — 0.0 — — NO. 0+7. Off T
1. 80 0.0 0.00 0.0 0.0 0.00 0.0
3. 50 0.0 0.00 0.0 0.0 0.00 0.0
a & 0.0 m*® 10.5 m?®
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H HW. L. +0.92
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2-2 AL

e Mz = = Y ixie
AL B EEHEAEE
‘ - e b K H B
;I jiScis i 2
B FY mME RS FH O @mHE
0 + 0.00 — 0.0 — - 3.1 — —
0 + 4.00 4. 00 0.0 0.00 0.0 3.1 3.10 12.4
1+ 0.00 6. 00 0.0 0.00 0.0 4.5 3.80 22.8
1 + 5.00 5. 00 0.0 0.00 0.0 3.2 3.85 19.3
1 + 8.50 3. 50 0.0 0.00 0.0 2.5 2.85 10. 0
2 + 0.00 2. 26 0.0 0.00 0.0 2.5  2.50 5.7
2 + 5.00 5. 00 0.0 0.00 0.0 3.3 2.90 14.5
2+ 7.29 2.29 0.0 0.00 0.0 3.3 3.30 7.6
AT )R 1 45 4. 67 0.0 0.0 4.1 19.1 R 7 A Lyl
B 7EdR a4y — 0.0 — — 0.0 — — NO. 0+7. Off3r
1. 80 0.0 0.00 0.0 2.4 1.20 2.2
3.50 0.0 0.00 0.0 2.4 2.40 8.4
& 0.0 m? 122.0 m?




2-3 AR L

‘makyL B EFHEE
e b K H
I IH A g 2L
RS VY mBE RS VY @mHE
0 + 0.00 — 0.0 — — 2.6 — —
0 + 4.00 4.00 0.0 0.00 0.0 2.6 2.60 10. 4
1+ 0.00 6. 00 0.0 0.00 0.0 2.3 2.45 14.7
1 + 5.00 5. 00 0.0 0.00 0.0 2.3 2.30 11.5
1 + 8.50 3. 50 0.0 0.00 0.0 2.3 2.30 8.1
2 + 0.00 2.26 0.0 0.00 0.0 2.3 2.30 5.2
2 + 5.00 5. 00 0.0 0.00 0.0 2.3 2.30 11.5
2+ 7.29 2. 29 0.0 0.00 0.0 2.3 2.30 5.3
7)1 4 4y 4. 67 0.0 0.0 0.0 0.0 A7 A Lt
AT 5p 1 45 — 0.0 — — 5.0 — — NO. Off
1. 60 0.0 0.00 0.0 5.0 5.00 8.0
0. 00 0.0 0.00 0.0 2.6 3.80 0.0
0.50 0.0 0.00 0.0 2.6 2.60 1.3
& 0.0 m? 76.0 m?




3 PET

3-1 #En
KL B, oz A
WEL & B A OE
‘ . bk K -
o BB i
Wrm ¥ SR Wm0 S

0 + 0.00 — 0.0 — — 1.9 — —

0 + 3.60 3. 60 0.0 0.00 0.0 1.9 1.90 6.8

0 + 5.40 1. 80 0.0  0.00 0.0 1.9 1.90 3.4

(BX7£1R)

0 + 8.90 — 0.0 — — 2.6 — —

1 + 0.00 1.10 0.0 0.00 0.0 2.6 2.60 2.9

1 + 5.00 5. 00 0.0  0.00 0.0 2.0 2.30 11.5

1 + 8.50 3. 50 0.0 0.00 0.0 1.5 1.75 6.1

2 +0.00 2. 26 0.0  0.00 0.0 1.6 1.55 3.5

2 + 5.00 5. 00 0.0 0.00 0.0 2.0 1.80 9.0

2 +7.29 2. 29 0.0  0.00 0.0 2.0 2.00 4.6
B 29. 5m” X 1. 1180 (&) X 0. 50 16. 5 NO. 0+7. OfH3fT
PEELEIPERS —1.40X 3. 00 X0. 50 -2. 1 NO. 2+5. O3
& 2 0.0/m? 62.2 m*
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A=29. 5m’

1100 3500 1800 3600




3-2 AL

WEAHL KRR E

fe E K
weooo B 5 2=
S ¥y mME kS FEY @mHE

0 + 0.00 — 0.0 — — 4.2 — —

0 + 3.60 3. 60 0.0 0.00 0.0 4.2 4.20 15. 1

0 + 5.40 1. 80 0.0 0.00 0.0 2.0 3.10 5.6

(B 7E40)

0 + 8.90 — 2.4 — — 3.4 — —

1 + 0.00 1. 10 2.4 2.40 2.6 3.4 3.40 3.7

1 + 5.00 5. 00 2.4 2.40 120 1.9  2.65 13.3

1 + 8.50 3.50 2.3 2.35 8.2 1.3 1.60 5.6

2+ 0.00 2.26 2.3 2.30 5.2 1.3 1.30 2.9

2 + 5.00 5. 00 3.3 2.80 14.0 1.0 1.15 5.8

2+ 7.29 2.29 3.3 3.30 7.6 1.0 1.00 2.3
BeZei0 29. 5m° X 1. 1180 (£}k) 33.0 NO. 0+7. OfH T
BEERERIERR  -1.40X3.00 -4.2 NO. 2+5. OfFiT
& i 45.4 m? 87.3 m?




4 HEIAT
4-1 BEHiAfn
HAA ¥ o&m B HOE
bz b K
/Y HOBE S
LT TETIN N A B VAR = S 11 T A T B VAR -
0 + 0.00 — 1.0 — - 1.2 — —
0 + 4.00 4. 00 1.0 1.00 4.0 7.2 7.20 28.8
1 + 0.00 6. 00 2.3 1.65 9.9 2.6  4.90 29. 4
1 + 5.00 5.00 3.0 2.65 13.3 2.3 2.45 12.3
1 + 6.90 1. 90 3.0 3.00 5.7 2.3 2.30 4.4
(R v 7 A
2 +0.00 — 0.0 — — 0.0 — —
2+ 0.00 3.40 3.1  1.55 5.3 1.7  0.85 2.9
2 + 5.00 5.00 1.8  2.45 12.3 0.8 1.25 6.3
2 +7.29 2.29 1.7 1.75 4.0 0.8 0.80 1.8
HAsH R4 45 — 0.9 — — 1.9 — — NO. OfFiT
1.45 0.9  0.90 1.3 1.9 1.90 2.8
0. 00 4.5 2.70 0.0 4.9  3.40 0.0
0. 88 4.5 4.50 4.0 4.9  4.90 4.3
1. 22 0.0 2.25 2.7 4.9  4.90 6.0
2.57 0.0 0.00 0.0 0.0 2.45 6.3
& 3 62.5 m® 105.3 m°®




ER 4 &R 18 53

2570 3550
1220 880 1450
ZARY LA (Ke) AR LEAER (BEL)
A=9_ 5n’ A=9. 4n’
\ '\’ NN
R — 1 / \
*&44% EAF LK
N <§§§§>////// A=4. T’
© o
y?
WQ 0’0



4-2 FAAE L

HAa¥L HEF R E

bz b K
Y B I
B S ¥¥H mHE ES FYH @EHE
()
0 + 2.30 — 0.0 — — 0.0 — —
0 + 6.10 3. 80 2.4 1.20 4.6 3.6 1.80 6.8
1 + 0.00 3.90 3.3 2.85 1.1 2.4  3.00 11.7
1 + 5.00 5.00 3.8 3.55 17.8 1.3 1.85 9.3
1 + 6.90 1.90 3.8  3.80 7.2 1.3 1.30 2.5
(R > 7 23)
2+ 0.00 — 0.0 — — 0.0 — —
2 + 0.00 3. 40 3.9 1.9 6.6 0.7 0.35 1.2
2 + 5.00 5. 00 3.0 3.45 17.3 0.9  0.80 4.0
2+ 17.29 2.29 2.9 2.9 6.8 0.9  0.90 2.1
A 4. Tn” 4.7 NO. O+t
9. 4m* X 1. 3017 (£}HL) 12.2
9. 5m*X 1. 3017 (&} k) 12. 4

& F 88.3 m? 50.0 m?




5 WRHiBh I T
5.1 BhRbHE EEEFH =
(1) BhiwbHErE a5

4 i o LT o= 1§
BHwbAR (F22_F) t=5mm B=1. Om m 24.0
BHRSHR (K H) t=5mm B=1.Om m 43.3




5.2 PBhimbHERERR
(1) BhwbAR (2 1)
(a) BHtbHT (2 ) (t=5mm B=1. Om)

L = 1.0 X 7 4+ 1.10 X 5 + 1.20 x 1
+ 1.10 X 3 4+ 090 X 7T = 24.0 m
(b) BSWOR k) (t=5mm  B=1. Om)
L = 040 X 7 4+ 08 X 5 + 150 x 1
+ 1,60 X 3 + 1.60 X 7 4+ 1.30 X 1
+ 220 x 1 4+ 25 X 5 4+ 1.80 x 1
+ 1.00 x 1 = 43.3 n
24 TA 24 7B
B4R (t=5mm B=1. Om) BERb 4R (t=5mm B=1.0m)
a2
o
\ o
o N -
—
I R o V0 l0(EE KRR | 4
CY Y = =
(YYY | (Y |
N S
(RBE) | 500 500
00 CY Y (Y%
AN
(EHEER) 500
B R R ~T ik & (B4 - m)
847 | BH al a2 (E11g) b1 b2 |EX (L) EX (k)| AHE
A 7 0.40 0.20 0.10 - 1.10 0. 60 1.70
A 5 0.40 0.20 0.34 - 1.10 0.84 1.94
A 1 0.40 0.30 1.00 - 1.20 1.50 2.70
A(B) 3 0.40 0.20 1.10 - 1.10 1.60 2.70
B 7 0.40 - 1.10 - 0.90 1.60 250
B 1 - - 0.50 - - 1.30 1.30
B 1 - - 0.50 0.70 - 2.20 2.20
B 5 - - 0.50 1.00 - 2.50 2.50
B 1 - - 0.50 0.30 - 1.80 1.80
B 1 - - 0.50 - - 1.00 1.00




5-2 Bhwb T — b

Shwbs— b~ # & B A E

(= K H
A =8 JLE: g o
ES EY mMHE ES EY¥ OmME
(UKD
0 + 2.30 — 0.0 — — 0.0 — —
0 + 6.10 3. 80 2.4 1.20 4.6 4.1 2.05 7.8
1 + 0.00 3. 90 3.3 2.85 1.1 2.9 3.50 13.7

1 + 5.00 5.00 3.8 3.55 17. 8 1.8 2.35 11.8

1 + 6.90 1.90 3.8  3.80 7.2 1.8 1.80 3.4
(R > 7 23)
2+ 0.00 — 0.0 — — 0.0 — —
2 + 0.00 3. 40 3.9 1.9 6.6 1.2 0.60 2.0
2 + 5.00 5. 00 3.0 3.45 17.3 1.4 1.30 6.5
2+ 17.29 2.29 2.9 2.9 6.8 1.4 1.40 3.2
A 4. Tn” 4.7
9. 4m* X 1. 3017 (£}HL) 12.2
12. 6m*X 1. 3017 (&} k) 16. 4

& F 88.3 m? 64. 8 m?
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6 HHT oy

6.1 FH7 oy rEHR

() AZAT7HEFR N=1{#) (ME%47- 1)
4 W 7S O T
JEE I T N—T 4T 3.0
LM 7.8
Rk & AR B150 X L200 X H100 0.3 N=4 & Ff
ek SS400 ¢ 16X 1280 N=44 8.1 W=2. 02kg/f#
2> Y—h o ck=18N/mm’ 3.12
H i 7.2 70.5 ) kN
(2) BZA 7HEFR N=3{#) (ME%47- 1)
4 W 7S O T
JEE I T N—T 4T 1.6
LM 5.7
Rk & B B150 X L200 X H100 0.3 N=4 & Ff
ek SS400 ¢ 13X 1140 N=44 4.8 W=1. 19kg/f
a7 )—h o ck=18N/mm’ 1. 64
B 3.8 (371 ) kN
(3) CHATHEFR N=1{#) (ME%47- 1)
4 W 7S O T
JEE I T N—T 4T 3.2
B 8.0
Fethk = I B150 X 1.200 X H100 0.3 N=4& Pl
ek SS400 ¢ 16X 1280 N=44 8.1 W=2. 02kg/f#
a7 )—h o ck=18N/mm’ 3.29
B 7.6 (744 ) KN
(4) D¥ATHEFR N=3{#) (HE%47- 1)
4 W 7S O T
JEE I T N—T 4T 2.4
LM 6.9
Fethk = I B150 X 1.200 X H100 0.3 N=4& Pl
ek SS400 ¢ 16X 1280 N=44 8.1 W=2. 02kg/f#
2> Y—h o ck=18N/mm’ 2. 46
HOR 57 ( 55.6 ) kN




(5) EXA 7HER N=1{4) (ME47=9)

4 R 7S XA B & T
JEE i L N—T 4 m’ 0.7
B m2 7.7 JE TR T
Rtk = P m’ —
REZN ] SS400 ¢ 13X 1140 N=4A kg 4.8 W=1. 19kg/1fi&
a7 )—Fk o ck=18N/mm’ m’ 1.75
HOE t 4.0 ( 39.6 ) kN
6) FHATHEFR N=40) (ME%47- 1)
4 R 7S XA B & T
JEE i L N—T 4 m’ 0.6
B 2 7.2 JEE N E R T
Rtk = P m’ —
REZNT] SS400 ¢ 13X 1140 N=4A kg 4.8 W=1. 19kg/ &
EN YRR o ck=18N/mm’ m’ 1.52
HOR t 3.5 ( 34.4 ) kN
() GHATHEFR N=1{#) (ME%47- 1)
4 R 7S XA B & T
JES i T N—T 4 m’ 1.1
P n’ 6.5
Rtk = R m” —
REZNT] SS400 ¢ 13X 1140 N=4A& kg 4.8 W=1. 19kg/ &
a7 )—Fk o ck=18N/mm’ n’ 1.60
HOE t 3.7 ( 36.2 ) kN
8) HHZA 7HEFR N=2{#) (HE%47- 1)
4 R 7S XA B & T
JES i T N—T 4 m’ 1.1
P m? 10. 2 JETHNEZ R T
Rtk = U m” —
REZNT] SS400 ¢ 16X 1280 N=4A kg 8.1 W=2. 02kg/ I
a7 )—Fk o ck=18N/mm’ m’ 2. 66
HOE t 6.1 ( 60.1 ) kN




9) 124 7%ER N=204) (ME47=9)

4 R 7S XA B & T
JEE i L N—T 4 m’ 0.9
B m2 9.3 JE TR T
Rtk = P m’ —
REZN ] SS400 ¢ 16X 1280 N=4A kg 8.1 W=2. 02kg/ I
a7 )—Fk o ck=18N/mm’ m’ 2. 40
HOE t 5,5 (  54.2 ) kN
(10) J XA 7HEE N=118) (LEE7=0)
4 R 7S XA B & T
JEE i L N—T 4 m’ 1.2
B 2 9.9 JEE N E R T
Rtk = P m’ —
REZNT] SS400 ¢ 16X 1280 N=4A kg 8.1 W=2. 02kg/ I
EN YRR o ck=18N/mm’ m’ 2.85
HOR t 6.6 ( 64.4 ) kN
(11) K& A 7HE#  N=1{#) (%72 9)
4 R 7S XA B & T
JES i T N—T 4 m’ 2.0
P n’ 8.9
Rtk = R m” —
REZNT] SS400 ¢ 16X 1280 N=4A kg 8.1 W=2. 02kg/ I
a7 )—Fk o ck=18N/mm’ n’ 2.97
HOE t 6.8 ( 67.1 ) kN
(12) L&A 7¥E#R  (N=2{H) (E47-9)
4 R 7S XA B & T
JES i T N—T 4 m’ 2.0
P m” 4.7
Rtk = U m” —
REZNT] SS400 ¢ 13X 1140 N=4A kg 4.8 W=1. 19kg/ &
a7 )—Fk o ck=18N/mm’ m’ 1.49
HOE t 3.4 (337 ) kN




(13) M# A 7#&E&FR N=11#) (HE47- 1)
4 W 7S XA B & T
JEE i L N—"T 4 m’ 2.5
N m’ 5.4
Fa Tk & T m2 -
SRE7S] SS400 ¢ 13X 1140 N=4AK kg 4.8 W=1. 19kg/{H
2y U—h o ck=18N/mm’ m® 1.88
HOE t 4.3 ( 42.5 ) kN
(14) N# A 7H&EFR  N=3{#) (A4 7-9)
4 W 7S XA B & T
JEE i L N—T 4 m’ 2.0
LR m’ 3.3
Rtk & T " _
SRE7SH] SS400 ¢ 13X940 N=4A& kg 3.9 W=0. 98kg/{H
2y U—h o ck=18N/mm’ m® 1. 02
HOR t 2.3 (231 ) kN
(156) O# A 7#&EF N=11#) (HE47-9)
4 W 7S XA B & T
JES i T N—T 4 m’ 1.3
N m’ 2.7
Rtk & T m? -
SRE7SH] SS400 ¢ 13X940 N=4A& kg 3.9 W=0. 98kg/{H
2y U—h o ck=18N/mm’ m’ 0. 68
HOE t 1.6 ( 15.4 ) kN




6.2 LT o v s EEE
(1) AZA4~7 (N=11#)

(a) Em T =74 )
A = 1.90 X 1.60 = 3.04
(b) B #

A= ( 1.0 + 1.60 ) X 2 X 1.00
+ ( 0.25 + 045 ) X 0.15 X 1/2 X 2

+ 0.18 X 1.90 X 2 = 7.79
(c) Tk =BUpE (B150 X L200 X H100, N=4f%FT)
A= ( 020 + 015 ) X 2 X 0.10 X 4 = 0.28

(d) mET (SS400 ¢ 16X 1280 N=474)
W o= 2.02 kg/f X 4 = 8.1

(e) =27 U—F  (¢ck=18N/mm’)
Al = 1.60 X 1.00 = 160

A2 = ( 0.256 4+ 0.45 ) X 0.15 X 1/2 = 0.05 p?
V = ( 1.60 p?2 + 0.05 p2) X 1.90
— 0.20 X 0.15 X 0.10 X 4 = 3.12

(f) & &
Wo= 312 X 2.3 = 7.2
W= 312 X 22.6 = 170.5



(2) B¥A 7 (N=3{#)
(a) JEm L =7 4 )
A = 1.00 X 1.60

(b) B
A= ( 1.00 + 1.60
+ ( 0.25 + 0.45
+ 0.18 X 1.00

(c) Fhth & BIFE

A= ( 020 + 015 ) X 2
(d) mET (SS400 ¢ 13X 1140 N=474)
W= 1.19 kg/fd X 4
(e) =27 U—F  (¢ck=18N/mm’)
Al = 1.60 X 1.00
A2 = ( 0.25 4+ 0.45 ) X O.
Vv = ( 1.60 2 + 0.05 %)
— 0.20 X 0.15 X 0.10
(f) & &
W= 1.64 X 2.3

W = 1.64 X 22.6

) X 2

) X 0.15

X 2

15

X

X

1.00

(B150 X L200 X H100, N=4f%FT)

1/2 X

X 0.10

X

1. 00

X

4

1/2

2

1.60 2
0.05

1.60

5. 67

0. 28

4.8

1.64

3.8
37.1

kN



(3) C#ZA4~7 (N=11#)

(a) JEH LT V=74 7)
A = 200 X 1.60
(b) B
A= ( 200 + 1.60
+ ( 0.25 + 0.45
+ 0.18 X 2.00

(c) Fatk &M
A= ( 020 + 0.15

(d) mEkh
W o= 2.02 kg/f X 4

(e) =27 U—F  (¢ck=18N/mm’)
Al = 1.60 X 1.00
A2 = ( 0.25 + 0.45 ) X 0.
V = ( 1.60 2 4+ 0.05 p2)
— 0.20 X 0.15 X 0.10
(f) E &
W= 3.29 x 2.3

W = 3.29 X 22.6

) X 2

) X 0.15

X 2

) X 2

(SS400 ¢ 16X 1280 N=47A)

15

X

X

1.00

(B150 X L200 X H100, N=4f%FT)

X

X 0.10

2.00

X

X

4

1/2

2

1.60 p?
0.05 p?

3. 20

8.03

0. 28

8.1

3.29

7.6
4.4

kN



(4) DZA 7 (N=3#)
(a) Em T N—" 4 )
A = 1.50 X 1.60

(b) B
A= ( 1.50 + 1.60
+ ( 0.25 + 0.45
+ 0.18 X 1.50

(c) Fatk &M
A= ( 020 + 0.15

(d) mEkh
W o= 2.02 kg/f X 4

(e) =27 U—F  (¢ck=18N/mm’)
Al = 1.60 X 1.00
A2 = ( 0.25 + 0.45 ) X 0.
V = ( 1.60 2 4+ 0.05 p2)
— 0.20 X 0.15 X 0.10
(f) E &
W= 2.46 X 2.3

W = 2.46 X 22.6

) X 2

) X 0.15

X 2

) X 2

(SS400 ¢ 16X 1280 N=47A)

15

X

X

1.00

(B150 X L200 X H100, N=4f%FT)

X

X 0.10

X

1.50

X

4

1/2

2

1.60 p?
0.05 p?

2. 40

6. 85

0. 28

8.1

2. 46

5.7
55.6

kN



(5) EXA7  (N=11#)
(a) JEH LT V=74 7)
A= 115 X 0.30 X 2
(b) B (X ERE L)
A= ( 1.15 + 1.10 ) X 2 X 1.50
— ( 0.30 4+ 0.40 ) X 0.15 X 1/2 x 2
— ( 0.30 + 0.50 ) X 0.20 X 1/2 x 2
+ 0.158 x 1.15 X 2

+ ( 0.224 X

2 + 030 ) X 1.15

(c) MERT (SS400 ¢ 13X 1140 N=474)
Wo= 1.19 kg/fHl X 4

(d =227 U—bF  (ock=18N/mn?)
Al = 1.10 X 1.50 = 1.65
A2 = ( 0.30 + 0.40 ) x 0.15 X 1/2 = 0.05
A3 = ( 0.30 + 0.50 ) X 0.20 X 1/2 = 0.08
Vv = ( 1.65 2 — 0.05 p2 — 0.08 p2) X 1.15

(e) E &
W= 1.75 X 2.3
W= 1.75 X 22.6

0.69

7.71

4.8

1.75

4.0
39.6

kg

kN



6) FZAT (N=4f#)

(a) Em T =74 7)
A = 1.00 X 0.30 X 2
(b) A (EHIZZERIETe)

A= ( 100 + 1.10 ) X 2 x 1.50
— ( 0.30 + 0.40 ) X 0.15 X 1/2 X 2
— (030 + 0.50 ) X 0.20 X 1/2 X 2
+ 0.158 X 1.15 X 2
+ (0,224 X 2 4+ 0.3 ) X 1.00

(c) MERT (SS400 ¢ 13X 1140 N=474)
W= 1.19 kg/f@ X 4

(d =27 U—F  (¢ck=18N/mn’)
Al = 1.10 X 1.50
A2 = ( 0.30 + 0.40 ) X 0.15 x 1/2 = 0.05
0. 08

1.65

A3 = ( 0.30 4+ 0.50 ) X 0.20 X 1/2

v = ( 1.65 m2 — 0.05 m2 — 0.08 mZ) X 1.00
(e) &
W = 1.52 X 2.3

0. 60

4.8

1.52

3.5
34.4

kg

kN



(1) G&#A T

(a) JE T

A

(b) M

A

(c) Mk

W

1. 00

W

( 1.00
- (

1.19

d =7 V—Fh

Al
A2

1.10
( 0.30

( 1.65

B

1.60
1.60

(N=11#)

W= 47)

X

0. 30
+ 0. 158

X

X

X

+ 1L

X

(o ck=18N/mm’)

1.10

+

1.50

10

0.40

1.00

X 4

+ 0.40

m

2

2.3
22.6

0.05

)

X

)

X

2

X 1.

) X 0.15

2

X

m )

(SS400 ¢ 13X1140 N=44)
kg /&l

0.

15

X

X

1. 00

50
X

1/2

1.65 2
0.05

6.51

4.8

1.60

3.7
36. 2

kN



(8) HZA 7 (N=2f#)

(a) JEm L =7 4 )
A = 1.75 X 0.30 X 2
(b) A (EHIZZERIETe)

A= ( L7 + 1.10 ) X 2

X

— ( 0.30 + 0.40 ) x 0.15
— ( 030 + 0.50 ) X 0.20
+ 0.158 X 1.75 X 2

+ (0.224 X 2 4+ 0.30

(c) MERT (SS400 ¢ 16X 1280 N=474)
W o= 2.02 kg/f X 4

)

0. 08

(d =227V —F  (ock=18N/mm’)
Al = 1.10 X 1.50
A2 = ( 0.30 4+ 0.40 ) X 0.15
A3 = ( 0.30 4+ 0.50 ) X 0.20
Vv = ( 1.65 2 — 0.05 2 —
(e) E &

1.

X

X

X

50

X 1/2 X
X 1/2 X

1.75

1/2
1/2

m’ )

X

1.

NI NG

75

1.65
0.05
0. 08

2
m

2
m

2
m

1. 05

10. 15

8.1

2. 66

6.1
60. 1

kg

kN



9) I%47 (N=2f#)

(a) Em T =74 7)
A = 1.50 X 0.30 X 2
(b) A (EHIZZERIETe)

A= (150 + 1.10 ) X 2 x 1.50
+ (015 + 0.25 ) X 015 x 1/2 x 2
— (030 + 0.50 ) X 0.20 X 1/2 X 2
+ 0.158 X 1.50 X 2
+ (0224 X 2 4+ 0.3 ) X 1.50

(c) MERT (SS400 ¢ 16X 1280 N=474)
W o= 2.02 kg/f X 4

(d =227V —1F  (ock=18N/mm%)
Al = 1.10 X 1.50
A2 = ( 0156 4+ 0.25 ) X 0.15 X 1/2 = 0.03
A3 = ( 0.30 4+ 0.50 ) X 0.20 X 1/2 0.08

1.65

V= ( 1.66 p?+ 003 p2— 008 p2) X 1.50

0.90

9. 30

8.1

2. 40

5.5
54.2

kg

kN



(10) J %4~ (N=11&)

(a) Em T =74 7)
A= ( 030 + 050 ) X 1.50
(b) A (EHIZZERIETe)

A= ( L.L50 + 1.30 ) X 2

X

+ ( 0.15 + 0.25 ) x 0.15
— ( 030 + 0.50 ) X 0.20
+ 0.158 X 1.50 X 2

+ (0.224 X 2 4+ 0.30

(c) MERT (SS400 ¢ 16X 1280 N=474)
W o= 2.02 kg/f X 4

)

(d =227V —F  (ock=18N/mm’)
Al = 1.30 X 1.50
A2 = ( 0.15 4+ 0.25 ) X 0.15

A3

Vv = ( L9 2+ 0.03 p° —

il
i

W = 28 X 2.3
2.8 X 22.6

=
I

( 0.30 + 0.50 ) X 0.20

0. 08

1.

X

X

X

50

X 1/2 X
X 1/2 X

1.50

1/2
1/2

m’ )

X

1.

2
2

1.95
= 0.03
0. 08

50

1.20

9.90

8.1

2.85

6.6
64. 4

kg

kN



(11) K& A7 (N=11&)

(a) Em T =74 7)
A = 1.50 X 1.30 = 1.95
(b) B #

A= ( L.L50 + 1.30 ) X 2 X 1.50
+ ( 015 4+ 0.25 ) X 0.15 X 1/2 X 2
+ 0.168 X 1.50 X 2 = 8.93

(c) MET (SS400 ¢ 16X 1280 N=474)
W o= 2.02 kg/f X 4 = 8.1

(d =227V —F  (ock=18N/mm’)
Al = 1.30 X 1.50 = 1.95 2

A2 = ( 0.15 4+ 0.25 ) X 0.15 X 1/2 = 0.03

V= ( L9 p?2+ 003 p2) X 1.50 = 2.97
() &

W = 297 X 2.3 = 6.8

W = 2.97 X 22.6 = 67.1



(12) L¥A 7 (N=2{&)
(a) Em T N—" 4 )
A = 1.50 X 1.30
(b) Y
A= ( 1.0 4+ 1.30 ) X 2 X 0.74
+ ( 0.15 + 0.25 ) X 0.15 X
+ 0.158 X 1.50 X 2
(c) MET (SS400 ¢ 13X 1140 N=474)
Wo= 1.19 kg/fil X 4
(d =27 U—bF  (ock=18N/mn?)
Al = 1.30 X 0.74
A2 = ( 0.15 + 0.25 ) X 0.15 X 1/2
Vv = ( 0.9 2+ 0.03 p2) X 1.50
() &
W= 1.49 X 2.3
W= 1.49 X 22.6

0.96
0.03

1.95

4. 68

4.8

1.49

3.4
33.7

kN



(13) M¥ A 7  (N=1#)
(a) Em T N—" 4 )
A= 1.90 X 1.30
(b) Y
A= ( 1.90 + 1.30 ) X 2 X 0.74
+ ( 0.15 + 0.25 ) X 0.15 X
+ 0.158 X 1.90 X 2
(c) MET (SS400 ¢ 13X 1140 N=474)
Wo= 1.19 kg/fil X 4
(d =27 U—bF  (ock=18N/mn?)
Al = 1.30 X 0.74
A2 = ( 0.15 + 0.25 ) X 0.15 X 1/2
Vv = ( 0.9 2+ 0.03 p2) X 1.90
() &
W= 1.8 X 2.3
W= 1.8 X 22.6

0.96
0.03

2.47

5.40

4.8

1.88

4.3
42.5

kN



(14) N&Z A7 (N=3{&)

(a) Em T N—" 4 )
A = 1.50 X 1.30 -
(b) Y

A= ( 1.0 4+ 1.30 ) X 2 X 0.50
+ ( 0.15 + 025 ) X 0.15 X 1/2 X 2
+ 0.158 X 1.50 X 2 =

(c) MET (SS400 ¢ 13X 940 N=474)
W= 0.98 kg/fHl X 4 -

(d =227V —F  (ock=18N/mm’)
Al = 1.30 X 0.50 = 0.65
( 0.15 + 0.25 ) X 0.15 X 1/2

A2 0.03

V= ( 065 p?+ 003 p2) X 1.50 =

il
i

W= 102 X 2.3 =
1.02 X 22.6 =

=
I

1.95

3.33

3.9

1.02

2.3
23.1

kN



(15) O% A4~ (N=11&)

(a) Em T N—" 4 )
A = 1.00 x 1.30 -
(b) Y

A= ( .00 4+ 1.30 ) X 2 X 0.50
+ ( 0.15 + 025 ) X 0.15 X 1/2 X 2
+ 0.158 X 1.00 X 2 =

(c) MET (SS400 ¢ 13X 940 N=474)
W= 0.98 kg/fHl X 4 -

(d =227V —F  (ock=18N/mm’)
Al = 1.30 X 0.50 = 0.65
( 0.15 + 0.25 ) X 0.15 X 1/2

A2 0.03

V= ( 065 p?+ 003 p2) X 1.00 =

il
i

W = 068 X 2.3 =
0.68 X 22.6

=
I

1.30

2. 68

3.9

0. 68

1.6
15.4

kN



7 Kpar s y—k

7.1 Kbz s ) — EEERHER

4 W Bk HZ & i &
AKrar s J—Fk o ck=18N/mm” m’ 2. 65
T m” 5. 36 O+@+®
RIS 1> — b n’ 11. 59
IR 72 0 O HFEIE5. 36/6= 0. 893
7.2 Kbz — MEER
(1) K=z V) — hOER
4 W B HZ & i &
AKrar 7 J—Fk o ck=18N/mm” m’ 0. 90
Al n’ 1.78
RIS 1> — b n’ 3.64
(2) K=z U — QRS
4 W B BZ & i &
AKrar s J—Fk o ck=18N/mm” m’ 1.28
Al n’ 2. 55
RIS 1> — b n’ 4.83
(3) K=z U — FOFERE
4 W B BZ & i &
AKrar s J—Fk o ck=18N/mm” m’ 0. 47
Al n’ 1.03
RIS 1> — b n’ 3.12




7.3 Kpar sV — NEERAE
(1) Kp=zrzU—rO
(a) Az y—kh (o ck=18N/mm")
Vv = ( 1.30 X 0.74 — 0.40 X 0.15 )
X (1.045 + 0.992 ) X 1/2
— 0.07 X 0.20 X 1.301

(b) 7
A= (074 + 015 ) X 2
X (1.045 + 0.992 ) X 1/2
— 0.07 X 0.20 X 2

(c) FBhIE S — b
A = ( 1.045 + 0.992 ) X 1.300 Xx 1/2
+ ( 1.045 + 0.992 + 1.300 + 1.301L ) X 0.50

(2) KpzarzV—h@
(a) Az Y —h (o ck=18N/mm")
Vv = ( 1.30 X 0.74 — 0.40 X 0.15 )
X (1.982 + 0.918 ) X 1/2
— 0.07 X 0.20 X 1.680

(b) A H
A= ( 074 + 015 ) X 2
X ( 1.982 4+ 0.918 ) X 1/2

— 0.09 X 020 X 2

(c) FBhIE S — b
A= (1.982 4+ 0.918 ) X 1.300 Xx 1/2
+ ( 1.982 + 0.918 + 1.300 + 1.680 ) X 0.50

(3) Aktpzarz7—1rO®
(@) Az 27 U—Fk (o ck=18N/mm%)

Vv = ( 1.30 X 0.50 — 0.40 X 0.15 ) x 0.79
(b) A H
A= ( 050 + 0.15 ) X 2 X 0.79

(c) JmpiiEy— b
A= 1.30 X 0.79 4+ ( 1.300 + 0.790 ) X 2 X 0.50



8 kT
8.1 ST HEgERHxR

4 PR B % BN B = i &
ES VAR o ck=24N/mm’ m’ 9. 56
27 J—Fh o ck=18N/mm” m’ 13.62
i B m’ 16. 87
I MR ) m’ 41.91 = O+@O+@+@+@+®+®
D13 kg 218
7S SD345
DI6~D25 | kg 231
H t=10 m? 3. 49
8.2 LIS TEER
(1) EfTOH=EE
4 PR B % BN B = i &
2> J—h o ck=24N/mm’ m’ 7.73
A m? 12. 93
- - D13 kg 159
DI6~D25 | kg 231
H H t=10 m’ —
(2) EfTO%EFE
4 PR B % BN B = i &
ENTAE o ck=24N/mm’ m’ 1.83
A m? 3.94
- - D13 kg 60
DI6~D25 | kg —
H t=10 m? 0. 41
(3) EMTO®%mEFE
4 PR B % BN % = i &
ENTAE o ck=18N/mm’ m’ 6.92
I m? 21. 37
H t=10 m? 0. 34




(4) b T@O%%ER

4 R PSRN HAfTL ¥ = fii
av 7Y —k o ck=18N/mn’ m’ 1.04
o n 2.59
ER: t=10 m? 1.02
(5) EMTO%ER
4 g PSR BAfT B = fii
ENTAEE o ck=18N/mn’ m’ 1.32
o n 4.25
H # t=10 m —
(6) EMT.O%EZHR
4 R PSRN HAfTL ¥ = fii
ENTAEE o ck=18N/mn’ m’ 2. 46
o n 7.83
ER: t=10 m? 0.82
(1) EMTO%%ER
4 R PSRN HAfTL ¥ = fii
ENTAEE o ck=18N/mn’ m’ 1.88
o n 5.87
ER: t=10 m? 0. 90




8.3 I TEERHE

(1) ESTO
(@) 227 U—hk (g ck=24N/mm’)
Al = ( 0.780 + 0.864 ) x 1.45 X 1/2
A2 = (0.849 + 0.935 ) X 1.43 X 1/2
A3 = 0.780 X 0.50 + 0.849 X 0.50
+ ( 0.780 + 0.820 ) X 2.50 X 1/2
+ ( 0.820 + 0.849 ) X 2.50 X 1/2
Ad = 0.864 X 0.50 + 0.935 X 0.50
+ ( 0.864 + 0.904 ) X 2.50 X 1/2
+ ( 0.904 + 0.935 ) X 2.50 X 1/2
A5 = ( 0.300 + 0.400 ) X 0.15 X 1/2
Vo= (490 p2 4+ 541 pf) X 1/2 X 1.44
+ 0.05 2 X 110 + 0.05 p* X 5.00
(b) 7 (BRAmHEIE)
A= 119 p2+ 1.28 2 + 490 p2 + 5.41
+ 0.05 g2 X 3
(c) 8 fh  (SD345)
D13 - 158.6 kg
D16 — 231.2 kg
aBEF = 389.8 kg

1.28

4.90

5.41
0. 05

= 12.93



(2 EHTO®
(a) =27 U —1hk (g ck=24N/mn?)

Al = 1.000 X 0.364
A2 = 1.000 X 0.571
A3 = (0.34 + 0571 ) X 3.55 X 1/2
A4 = (0.300 + 0.400 ) X 0.15 X 1/2

V = ( 0.3 g2+ 057 p2) X 1/2 X 3.55
+ 0.05 g2 X 3.55

(b) M (BRAH &)
A= 0.57 p* 4+ 1.66 > X 2 + 0.05

(c) & (SD345)
D13 — 59.5 kg

(d B H (t=10)
A= 0.36 p2+ 0.05 g2

(3) EHTO
(@ 27 U—hk  (ock=18N/mm’)
Al = ( 0.500 + 0.786 ) X 0.571 x 1/2
— ( 0.150 + 0.250 ) X 0.15 X 1/2
( 0.500 4+ 1.100 ) x 1.200 X 1/2
— ( 0.150 + 0.250 ) X 0.15 X 1/2
A3 = ( 0.571 + 1.200 ) X 10.90 x 1/2

A2

Vo= (034 2+ 093 ) X 1/2 x 10.90

(b) B H (BRI EN))
A= 093 p*+ 9.66 2 4+ 9.65 > X 1.1180

(c) B H (t=10)

0. 36
0.57
1.66
0. 05

0.34

0.93
9. 65

1.83

3.94

0.41

2
m

2
m

6.92

21.37

0.34



(4) EHT®

(@) 227 U—hk  (ock=18N/mm’)
Al = 0.500 X 1.200
A2 = 0.600 X 1.200 X 1/2
A3 = 0.400 X 0.150
A4 = 1.000 X 1.200
A5 = ( 1.020 + 1.040 ) X 1.20 X

1/2

X

1/2

vV = 0.60 p*2 X ( 1.000 + 1.020 )
4+ 0.36 2 X ( 1.020 X 2 + 1.040
10.06 g2 X 1.020
(b) (IR &EY)
A = 1.20 2 + 1.24 2 X 1.1180
(c) B #

A= 0.60 2+ 0.36 2+ 0.06 p?

(5) ETG

(@ a7 U—F  (¢ck=18N/mn’)
Al = 0.500 X 1.200
A2 = 0.600 X 1.200 X 1/2
A3 = 0.500 X 1.094
A4 = 0.600 X 1.094 X 1/2
A5 = 0.400 X 0.150
A6 = ( 1.094 + 1.200 ) X 1.00 X
A7 = ( 1.094 + 1.200 ) X 1.00 X

+ ( 0.410 + 0.900 ) X 1.20

V= ( 060 pm>+ 0.55 p2) X 1/2
X ( 1.000 + 1.410 ) x 1/2

+ ( 0.36 >+ 033 ) X 1/2

X ( 1.410 X 2 4+ 1.900 ) X
4+ 0.06 2 X 1.410

(b) A M (BRI EN))
A= L1565 g2+ 1.93 p° X 1.1180

+ 0.55 > + 0.33 2 + 0.06

2
m

1/2
1/2

1/3

1/2

)

X

0. 60
0. 36
0. 06
1.20
1.24

1/3

.60
36
.55
.33
. 06

o o o o o

1. 04

2.59

1.02

1.32

4.25



6) E¥HTO®
(a) =27 U —1hk (g ck=18N/mn?)

Al = ( 0.500 + 1.047 ) X 1.094 X
— (0.150 + 0.250 ) X 0.15
A2 = ( 0.500 + 0.838 ) X 0.676 X
— (0.150 4+ 0.250 ) X 0.15
A3 = ( 0.676 + 1.094 ) X 3.96 X
Vv = ( 0.8 2+ 0.42 p2) X 1/2
(b) A P (At &)
A= 042 2+ 3.50 2+ 3.50 o
(c) B # (t=10)
A =
(1) BT
(@) 227V —1F  (gck=18N/mn’)
Al = ( 0.500 + 1.088 ) X 1.176 X
A2 = ( 0.150 + 0.250 ) X 0.15 X
A3 = ( 0.500 + 0.965 ) X 0.930 X
A4 = 0.400 X 0.150
A5 = ( 0.930 + 1.176 ) X 2.33 X
Vv = ( 093 2+ 0.68 p2) X 1/2
+ 0.06 g2 X 0.790 — 0.03 o2
(b) %4 A (M)

1/2

X 1/2
1/2

X 1/2
1/2

X 3.96

X 1.1180

1/2
1/2
1/2

1/2

X 2.33
X 1.540

A = 0.68 p?>+ 0.06 2+ 2.45 2 + 2.45

(c) B # (t=10)
A= 0.93 2 — 0.03

2
m

X

0.82

0. 42
3. 50

0.93
0.03
0.68
0. 06
2.45

2
m

2
m

2. 46

7.83

0.82



INA—T. £ §H K

% B Bl i B v HALL % & i =
7" VAN =N T
7 VECAME 920 =b | B3300 X H1100 2435, f2yE m 4.0 |BEER 6700kg
7 VEYANE I AW =} | B3300 X H1100 2451, Fdkft m 2.0 |BBEERE 6700kg
7" VEYANE /AW =} | B3300XHL100 23], Figft (miE m 1.0 |BZEEE 6370kg
G 46570kg
T L ¥ A MEMK B4000 X L1000 X T200 e 4.0 |BEER 2000kg
T L ¥ A EMK B4000 X L1500 X T200 # 2.0 |BEER 3000kg
7 14000kg

FEREZES L K m2 35.0




T XY ARy AN/ S—Ek (B3300-H1100 24E)) $ &518

280 3 300 280
i Ak
| | -
\ AR AN
B4000xL1000xT200
10 3 860 10
4 000
|
7 5 A A \
1240
4 biiNg:E ¥ B 2 HAL Y DL JE 5 - o T 3R &
TVFYANK I AN =b | B3300-H1100 24y 1.0 7.0 m
7L % ¢ A b PR #L | B4000 X 11000 X T200 n 4.0 #
Z L% ¢ ANER AR B4000X L1500 X T200 I 2.0 &
- O K 5.0X7.0 35.0 " 35.0 m’




GTaR TIE

oAl Mo Bl B HAL | %% & i &
R T P RASET K m 9.6| fEEsB 244y
PR 14K AL £, ImEA T 58 34
AL, JhE, 6mPL R e 12 |IREERMR2  2BERET
PR J—2= t 19. 65 N=40#%




&% T

RER KR T
<{REEAT1> T
i Eox HLWM e g o |
T Al HE HE=E Mg g =
(mm) (m) (kg/m) | (ke) ) (kg)
I AR mr 9. 500 60.0 | 570.0 5 2,850 SY295 U — 2k
I AR mr 7.000 60.0 | 420.0 5 2,100 SY295 U — 2k
I AR mr 10. 500 60.0 | 630.0 24| 15,120 SY295 (PN
RITIAA RS BE=E
6mLl EIMELT 18 & 1) —R %t 495t
ImEB12mLL T 16 & BE AR (OISR LB 385 ¢
XIREIIRES
IMLLT 10
<{REEXIR2>
W B LM e prom |
T Al HE HE=E Mg g =
(mm) (m) (kg/m) | (ke) ) (kg)
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